Aegfe INIEl, 2025

Secondary Examination, 2025
THAT UTA-UF
Model Paper
favg — fagm=
Sub : Science
JHY : 03 " 15 e

qUTia : 80
Gug — 3

Section - A

1. SgfddedTcdd U3 (1 | xvil)—
Multiple Choice Questions 18X1

= U9l @ SR &1 Wl [Adeu a9 o) IR gRaaT # oy |

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it in given

answers book.

i) & T2 Iffhar & e § S $M A B

PbO (S) + C(S)—™ 2Pb(S) + CO: (g)

(1) T 9afdd & W& 2 (1) Fre—eziaass Suafd & Y&l & |
() ®1¥= Su=afdd & <& & | (iv) erssiTaaTsS AT 8 Y& & |

(@) () w@ (i) (@ (@) wa (m)

(&) (1),(1),(1m1) (2) E'q?j,ﬂﬁ T

which statement regarding the reaction given below 1s false -
PbO (S) + C(S)——" 2Pb(S) + CO2(g)

(I) Lead 1s being reduced (1I) Carbon dioxide 1s being oxidised.
(III) Carbon 1s being oxidised. (IV) lead oxide 1s being reduced
(A) (1) and (i1) @) (1) and (111)

(&) (1),(1),(1m1) (@) All of above

(i) @i B HigTE P W7 ¥ = B forg FEfiRad § @ B R Suge 2

(31) W= (@) Ue SR

(F) i & wRd T (%) Sudaa |

Which of the following method 1s suitable to protect an 1s an frying pan from rusting ?
(A) Applying grease (B) Applying Paint

(C) By zinc plating (D) All of the above

(iii) T BT Aofas T CoHe & 307 —

(31) 6 FETTINIH AR & | (8) 7 AEHAIGTd IS & |
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(d) 8 HEGIINI® IATEAT & | (3) 9 T HAGIdH IAEH & |
The molecular formula of ethane 1s C2 He. 1t has

(A) 6 Covalent bonds (B) 7 Covalent bonds

(C) 8 Covalent bonds (D) 9 Covalent bonds

(iv) Fe; 03+ 2Al — ALOs + 2Fe

SR T JAAfHAr fFE geR B 7 —
(en) <o Srfafsharn (1) fafaxenes st
(@) faare= srfafshar . (]) favemus sifwfssar
Fe:O0z+ 281 —» Al:0s + 2Fe
Which type of reaction 1s given above -
(A) Combination reaction (B) Double displacement reaction
(C) Decomposition reaction (D) Displacement reaction

(v) BT faerma evs @ O Y dag 9 AMAfhar e Ud I I HRal & ol
T & U Bl RN BR <l & | 39 [dera 1AM Sa18U—

(31) Nacl (d) Hcl

(¥) Licl (T) Kcl

A solution reacts with ground egg shell to produce a gas which turns the lime water milky.
what will be 1n this solution.

(A) NaCl (B) HC

(C) Licl (D) Kcl

(Vi) @M 99710 S99 Ife 909 @l doll S18% ¥ dleil & Y8l & ol 39dl Adad & b —
(31) o QR TRE | T8 U =l (@) TE T @RE | 6l 9l &7 ©
(7) S AT T (%) To9 A TRE § A =T 2|

If the bottom of the vessel is getting black from outside while cooking food, it means that -

(A) ) Foad is not cooked completely (B) Fuel is not burning completely.
(C) Fuel is wet (D) Fuel is burning completely
(vii) OTeT § STgoiF STRerdl 8—

(31) STt BT TBA (3) HI= BT g

() QAT 3171 BT 8- (8) aifeiio &1 98+

In a plant xylem is responsible for

(A) Transport of water (B) Transport of food

(C) Transport of amino acids (D) Transport of oxygen

(viii) fFr=fefaa § | $I=r aTey B & —

(&) sgferm (@) araRifeT=

(F) TIoH (3) ArEciaE

Which of the following is a plant hormone -

(A) Insulin (B) Thyroxine

(C) Estrogen (D) Cytokinin
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(ix)iﬂﬁﬂi‘mﬁﬂaﬁiﬁﬁmqﬁﬁﬁmlﬂﬁﬁwwmﬁ%— 1
(

3) gARkTSs (8) wegaRaass

(%) SrgareT=h (3) ergaRer ™

Which part of the brain 1s responsible for walking 1n a straight line -

(A) Cerebrum (B) Midbrain

(D) Cerebellum (C) Hypothalamus

(x) aET § o9 @ fafr & — 1
(@1) fage= (€) sg@sA

(9) TTHea () g

The method of reproduction in Amoeba 1s -

(A) Binary fission (B) Multiple fission

(C) Regeneration (D) Budding

(xi) SRl & W\ 8 — 1
(31) ATSHA HVIS (@) TR S A

(\) Arerer Aafoen (&) —ged

The father of genetics 1s -

(A) Michael Faraday (B) Gregor John Mendel

(C) Marcello Malpighi (D) Newton

(xii) Fre=faRead & & ifds ae@ & — 1
(31) arey (@) ga1

(@) T (@) o

Whmh of the following 1s a biological component -

(A) Plant (B) Soil

(C) Arr (D) Water

xiil) ool &1 fFRUT Iugdeie & — 1
3) 15 9) 1.31

9) 1.33 T) 242

The absolute refractive index of water 1s -

A) 15 B) 1.31
C) 133 D) 242

Xiv) ARAAS FART T4 AT GARK & 72 GHI BT <R ATHT BT o— 1
3) 10 fA=e 9) 5 f=e

9) 2 e 3) 8 fA=e

The time difference between actual sunset and apparent sunset 1s approximately -
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A) 10 Minute B) 5 Minute

C) 2 Minute D) 8 Minute
xv) DI g I8, 220V & WA € ST 83 & | I 68 | 05 YRR 1 fe@
gIRT Yarfed Bl 2 o 9ed &I ofad 8rfl— 1
3) 11 91 ¥) 110 9IS
H) 440 9 g) 220 g9

An electric bulb 1s connected to a 220 V generator. If 0.5 ampere current flows through
the bulb than the power of the bulb :-

A) 11 Watt B) 110 Watt
C) 440 Watt D) 220 Watt
xvi) T aretd & wfaRig &1 a9 iR $ar 8— 1

3) TP B Tl W §) ATAD D IJHR] BIC T EFABA TR
W) aTe® & g Pl UHfd IR T) SWIEd @1 R

The Value of resistance of a conduetor depends on -

A) The length of conductor B) The area of cross- section of conductor

C) The nature of material of conductor D) On all of the above

xvii) TEYULF & F9I_fAggd aRuel H aRT &1 A— 1
31) uRafia =& &rn &1 §) FRox gRafid 8 2 |
) 98d PH ®l Al © | &) 954 SId 98 Sl © |

At the time of short circuit, the value of current in the circuit -

A) Does not change B) Vary continuously

C) Reduces substantially D) Increases heavily
Xvill) TEH B FoIdrd gai § IRER el 2— 1
31) JATHET 9) gy

) ATHYY g YABNT  T) SWIGT H F BIS 8l

The homogeneous poles of a magnet have mutual-
A) Attraction B) Repulsion

() Attraction and repulsion both D) None of the above
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2) Rad == @1 gfid @17« Fill in the blanks- 6x1
1) o Afeerdl (@fa gagi) &1 fAufed 8ie) FHIRe 99991............... JAHAT B |

The decomposition of green vegetables (Vegetable matter) into compost in

the reaction of .........................

ii)3 MnO2(SH4 Al (S) 2 4 e A ST

3MnO, (S)+4 Al (s)—-L++ Heat
11) PR AT o d=id dfFdT dF §91d ¢ |

.................. and .................. together form the central nervous system.
iv)3Toi IRd G4 | M arell......... . GRET S el g
The ozone layer provides protection from ............ coming from the sun.
v)Ikwh &t a9 ... Sl & RN 2|

The Value of 1 kwhisequalto........... joule.
vi) 919 U1 foae REfaREl dF @ @R @l 3® BRI el daAIPR HUsel] B
__________________ BB & |

A cylindrical coil with several turns of closely wrapped insulated copper

wire 1s called a .............

3)  SifrergeRIe e 93 - Quesytion - 12x1

i) FEeTaEg 2o 6 sed & °?
What 1s homologues series ?
ii) T U4 HIgh @iel 9erRil &l Ao 9 yHIad aai faar oar 872

Why are oils and fat containing food items affected by nitrogen ?

iii) T a1l g @ pH o7 A 6 BIaT €, g8l 99 o4 IR 39a pH & a1 F
a1 IRgdT B8R ? FHET |
The pH value of fresh milk 1s 6,Explain what will be happens to

1t’s pH when 1t become curd .
iv) A9 FARISS @1 Soagd f9vg ERaT &1 0 & |
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Construct the electron dot structure of sodium Chloride.

v) YFdeTd HI9H dTel I b1 91 ddisd | 1
Name the instrument which measures blood pressure.

vi) A9 @1 dF B FEH BIS! WRAIHD gDy BT A9 qaizd | 1
Name the smallest structural unit of the human nervous system.

vil) 3T & IRR § Yo7 Bl gi9ol fhas gR1 urd gidar 2 ? 1
From where does the fetus get nutrition in the mother body ?

viii) 99 9 HEd & 7 1

What 1s gene ?
ix) o &gqa1 &1 S.I. 73 o 1

Write the S.1. Unit of power of lens.
X) WISl & fa8gor &1 gRHING HIfve | 1

Define Dispersion of Light.
xi) TH=Al STSIT URRIY & URREI® & RIRI | 12V B dexl @I |Iord &R IR giRu

q 2.5 mA e a1 gaifzd &l 8 GRS @1 JhkoRe gREfora P | 1
When a 12 v battery is connected across an unknown resistor, there 1s a

current of 2.5 mA flows 1n the circuit. Find the value of the resistance of the resistor.
Xii) TG & I3 @ BIg of o1 forfay | VotYa=1

Write any two properties of magnetic field lines.

Section — B

ATATHAD T

4) FrafoRea sifafssaret @ forw axgfora FHeYYT forRay | 2
i) TIH BISgaISS+ RS RIES — BIIIH BEAS + Wl
i) e+ Rieax A3ge —»Nia AEge+ e

Write balanced equations for the following reactions

1) Calcium hydroxide +carbon dioxide——» calcium carbonate+ water
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11) Zinc + silver Nitrate — zinc nitrate+ silver

5) ST @1 FeHgRS a1 A fhaT IR DI 39 il & | MY SHD! ggald D
PP

Which gas 1s produced on Zinc’s reaction with sulphuric acid? How will

you Identify 1t ?
6) ST IATFAISS T BId & 7 T SHAH! ATFASS] BT IETEX0T ST |
What are amphoteric oxides ? Give examples of two ampheteric oxides.
7) AT WEA B AR Tl @ [aEved i GHIsd |
Explain the break down of glucose during aerobie respiration.
8) T&caraad fhar & R afta awsngy |
Explain the process of gravitropism with diagram.
9) IS Y9 P 3 el HIC BT MG (9 S 8Y 9D AW~ AR B
GEEIEUE

Explain the various part of a angiosperm flower by drawing labelled

diagram of its longitudinal section.
10) ATFG H o1 MeiRer &7 RRag R g1 w93y |

Explain sex determination in humans with the help of a schematic diagram.

11) 15CM BB U B Iddel QUYL H 25CM X TR U I @I 78 & |
qUY ¥ fHa X WS U B x@1 WY P g ) e giifes < 8|

.

An object is placed at a distance of 25¢m from a concave mirror of focal length

15c¢m. At what distance should a screen be kept from the mirror so that a clear

image 1s obtained on the screen.
12) 3ifcm dufdm A ST f5<d el &1 wamuee R forar g ye # &fes 8l 8
ge faemfl f&a gfe v & §ifta 21 39 v & S9= 8 & <1 SR fafag |

29 SN &l fH9 yeR N fHar &1 9ear & 7 Vot 1+Y2=2
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A student has difficulty in reading the black board while sitting in the last row.
What could be the defect the student 1s suffering from ? Write two reasons for the

occurrence of this defect. How can it be corrected.
13) FAMIT &1 910 =1 &1 fraq falau | 2

Write Fleming's left hand rule.

Section — C
4" IR -
14) PR FATZY | 1/2+142=3
G1ve reason:-
i) IReX 3% URE BT MeEREl 99 J @& a1 e gney 2

Why plaster of Paris should be kept in a moisture proof container.
i) IMEa Wit fAE[d &1 areis a1 T8l Bl © oidid aul ool sl © ?

Why 1s distilled water not a conductor of electricity while rain water 1s ?

Jr2qdr
BRI gA13Y | 1%+1% =3
Give reason:-
i)  HCl Siel faa # r=iig siffesor ueiRid &xd & oidid Uodied @ faagdl |
NI B _IAMAIETOT YeRd T8l & T |

HCI show acidic characteristics in aqueous solution whereas it does not show acidic

characteristic in alcohol solutions .
i) D BESIEAING 19 L foleqd u3 & F1 B 34T T8l 9gardl & 2
Why does dry hydrochloric gas not change the colours of dry litmus

paper ?
15) i) T FRrE @1 Aty et awsmea | 2
Explain the different methods of contraception
i1) SEgerd {59 Hed 87 1
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What 1s menstrual cycle?

3T
i) T DIFPTHIY ol § U8 W drell Yo+ & faforat sarsd | 2
Describe the methods of reproduction found in unicellular
organism .
1) ESET A HHo Gy | 1

Explain budding in Hydra .
16) 1) WUyl U9 fOyHul | =R 9ded | 1
Explain the difference between autotroph and heterotroph.
ii) UH 31 TS I8 oW aig fFriaseiia garl 9aiarer &f y9ifad &vd &1 2

State two ways in which non-degradable substances affect the

environment.

ST

i) STl Sifdl & <19 99l 359 | {oilRay T8H U Sila R &I Tl & e
TP Ul ST DY RATIA] DIY ordH HH 9 B4 3 (1F) TIR0T 3 | 3

Write the names of aquatic organisms in the order in which one

organism eats the other and establish a chain which has at least three steps.

 — —

17) R1,R2 @ RUFRIET @& O UiCREIST @ 101 9 FaroA &1 uikgel o s9rar afikuer
BT fol TR (Jod UfoRIE) S AR b FgF 9T DIy | 1+2=3

Draw a circuit diagram of the series combination of three resistors of resistance Rj,R»
and R; and obtain the formuta to find the total resistance (Equivalent resistance) of the

Circuit .

ST
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Ri,R2 3 R:URRY & 09 URRIMGT & 9194 (F91R) 9 GaIoid & URuel =3 9976 gRkoer
@1 Bl UfeRIY (Jod UfoRIE) S HRA BT G UT< DIFST |

Draw a circuit diagram of the parallel combination of three resistors of resistance Ri.R>

and R; and obtain the formula to find the total resistance (Equivalent resistance) of the

Circuit.
Section - D
FEETHs 93 —
18) f=feiRaa & TUPACAM@RY HIfvg — 1x4=4
)  CH;CH=CH; ii) CHs CH»-OH
iii) CH; CH,-CH,-CH,Cl iv) CH; CH, CH, CHO

Give IUPAC nomenclature as follows.
)  CH;CH=CH, ii) CH; CHy-OH
111) CH;s CH2-CH,-CH.Cl 1v) CH; CH; CHz CHO

S2d]
etk Tl &1 EX=E-T 99150 —

1) VISP 3T+ i1) FACA
i) Al iv) EFTel

Draw the structure of the following compounds

1) Ethanoic Acid 11) Bromo pentane

111)  Butanone 1v) Hexanal
19) 1) A4 9raH I &1 AMifed f&F 9183 | 2
ii) IR Scafod 37 6T 919 9 B Jargd | 1
iii) ATHER Tl H & D A=Te el FaI Bl © 7 1

i)Draw a labelled diagram of human digestive system.

ii)Name and describe the function of the acid secreted by stomach.

iii)Why is the length of small intestine longer in herbivorous animals?
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SIdT

i) A9 Iooid dF BT AHifed i 918 | 2
ii) g9h B Dl I B Ry | 1
ii) S e fF9 Fed € ? 1

i)Draw a labelled diagram of human Excretory system.
ii)Write any two function of kidney.
iil)What is artificial dialysis.
20) UHIY & URTEGH | MY FT G & 2 AGdd <9V &I Wl | Hidied YTl B BT fbxor

EEERIELBSEIES 1+2+1=4

1) fa=9 (@) aswar &= (C) = Rerd 7|
ii) = (@) »rea (F) = Rea g
SRIFd TF1 Rerfadl d gre yfdfds &1 3reR g gafa 91 Ry |
What do you understand by refraction of light? Draw a ray diagram to obtain the

image with the help of a concave mirror when :-

1) The object 1s located at the centre of curvature. (C)

11) The object 1s located at focus (F)
Also write about the size and nature of the image obtained in both the

above situations.
T
YHTY B AU & AT FIT T & ° Il o Bl el § Ied Ul & ol
fovor R 9138 wefd —
i) = (@) 7= R Rea =
i) 99 (@) 2F, 9 F; @ #eg R |
SwIad g[1 Rerforal # g gfafda &1 s g gafor i fofag |
What do you understand by refraction of light? Draw a ray diagram to obtain the

image with the help of a convex lens when-
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1) The object 1s located at infinity.
11) The object 1s located between 2F, and F,

Also write about the size and nature of the image obtained in both the above situations.

O.?’Q
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